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Choosing data measures

What measure(s) should you use?

e It depends on your final cluster criteria.
- IT for example, your priority i1s dipole location,
then cluster only based on dipole location..

But consider:

- What i1s the difference between these two components?
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Choosing data measures
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Choosing data measures

) Figure 14: ERP
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Choosing data measures

Figure 16: Component Spectra

Figure 15: Component Spectra
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Choosing data measures

File  Edit Desktop

Deda&| haame|E 0a|en

“Wiew |nsert  Tools Mindow  Help

Figure 11: ERSP of @ Compenent from cluster Cls 26

DeEa k|eaye| e 08O

Cls 26 Comp. 2, NOMTargetAttendl, normals, 502 Comp. 2, NOMNTargetAttendR, normals, 302
33 13—
3

20 20

o

L

§~ 12 - 12

g

g -

w7 7
4 -

a 500 1000 a 300 1000
Time (ms) Time (ms)
File Edit “iew Insert Tools Desktop Window Help

Comp. 2, TargetAttendl, normals, 502

33

o0 -

33

= -
20 #’-

Comp. 2, TargetAttendR, normals, S02 de

-
12
. -
7
4
] 500 1000

Time (ms)

ERSPs have some similar features..

Cls 26 Comp. 3, NOMNTargetAttendL, normals, 305 Comp. 3, NONTargetAttendR, normals, 03
33 - 33 j—— —_ 1
20 20
¥
w12 - A 12
o
g
g
T 7 7
4 4
a 500 1000 a 300 1000
Time (ms) Time (ms)

Comp. 3, TargetAttendL, normals, 305

h
R - .
— —
2n -
—
12
4 /w
a 5I 1DIDD
Time (ms)

4

Comp. 3, TargetAttendR, normals, S05 dB
- 4

33

20

:

0 a00
Time (ms)

1000




B¢ Edit Yiew [nzert  Tools  [esktop  Window  Help
neEa aans|¢ 0E =0

S02, Comp 2, nomaly

-5
——— NONTargetatisndL
RONTargetatindR
TarystAmen L
. Targetamens
I:;j 10
i
3 N
] \
H p \\
- —
sl " " "
5 m 15 20
Frequency (Hz)
) Figure 16, Componcrt Spectra
EMe  Edi Yiew |ntent Toak [Deckiop  Wndow  Hedn

CeEs k|eaans ® 0B =0

S08. Comp.$, normals

Tangelaendl,
Tangelameng®

= )
E 0
g 15 Y,
2 e
" R \_
2ol " . .
3 0 i) T

Frequency (Hz)

B Eov Yiew nsen oo Deskiop  Eedow  Help
Deda kAa0® & 08| 0

RONTargetatiendl
NONTargetatandr

2\

ki ]

Choosing data measures

What data measures

should you use”?

It depends..

e broadly-matched ICs: use

many/all of the measures.

e specifically-matched ICs: use

one/few of the measures.
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Cluster on dipoles only

Spatially
distinct
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Spatially
NON-distinct
IC clusters,
but highly
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activity

Cluster on ERSP only
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Cluster on dipoles AND ERSP

Spatially
distinct

IC clusters,
relatively
matched
activity
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Cluster on spectra only
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Cluster on spectra only
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Cluster on dipoles AND spectra




Cluster 3

Cluster on dipoles/spectra
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Plot STUDY dipoles

% std _diopleclusters() variables:

cols = hsv(length(STUDY.cluster)-2);

clusters = [3:length(STUDY.cluster)]; % clusters to plot
title = “Dipole Clustering Only“; % fTigure title

plot params = [2,2,1]; % [nrows,ncols,subplot]

views = [1,2,3,4]; % 1=top,2=side,3=rear,4=oblique

% std_dipoleclusters function call:
std _dipoleclusters(STUDY,ALLEEG, “clusters”,clusters,..

“title”,title,’viewnum®,views, “rowcolplace”,plot_param,..

“centroid’,’off”, “colors”,cols);

Script can be found In practicum _11.m
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Alpha power and ITC differences
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Arameters/mensures to use for
‘cenwg dependls on Your goal , but
:-:_'_~ ieratly activity AND location are
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v clustering can be frustrating because of

Lnter-subject differences that you never
noticed before.




Cluster on dipoles/spectra/ERP




Cluster on dipoles/spectra/ERP/scalp maps




